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‘easy path to achieve’ is written as ‘ad mi ja no’,
U ‘the path to success’ is written as ‘ku ja ig ad’,
‘achieve of the tomorrow’ is written as ‘be ku zo mi’

‘to achieve of goal’ is written as ‘be li mi ja’.
What is the code for the word ‘achieve’?

(1) no
(2) ad
) ja
(4) mi
(5) Cannot be determined
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‘easy path to achieve’ is written as ‘ad mi ja no’,

u ‘the path to success’ is written as ‘ku ja ig ad’,
‘achieve of the tomorrow’ is written as ‘be ku zo mi’
‘to achieve of goal’ is written as ‘be li mi ja’.

Which of the following may represent ‘success
is path’?

(1) ig ad no

(2) ig py ya
(3) re ad be
(4)ig li re

(5) ad reig
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‘easy path to achieve’ is written as ‘ad mi ja no’,

‘the path to success’ is written as ‘ku ja ig ad’,
‘achieve of the tomorrow’ is written as ‘be ku zo mi’
‘to achieve of goal’ is written as ‘be li mi ja’.

‘ad’ is the code for which of the following word?

(1) to

(2) win

(3) path

(4) easy

(5) Cannot be determined
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‘easy path to achieve’ is written as ‘ad mi ja no’,
u ‘the path to success’ is written as ‘ku ja ig ad’,
‘achieve of the tomorrow’ is written as ‘be ku zo mi’
‘to achieve of goal’ is written as ‘be li mi ja’.
What is the code for the word ‘easy'?
(1) ad
(2) mi
(3) no
(4) ja
(5) Cannot be determined
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‘easy path to achieve’ is written as ‘ad mi ja no’,
u ‘the path to success’ is written as ‘ku ja ig ad’,
‘achieve of the tomorrow’ is written as ‘be ku zo mi’
‘to achieve of goal’ is written as ‘be li mi ja’.
Which of the following represents 'of the path'?
(1) ku be ad
(2) mi be no
(3) ku be ya
(4) mi ku be
(5) be mi ad
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Statements:
H=1<J,I=K>L2M,L>FSS<T
Conclusions:

L.LH>M
IL.K>S

(1) If only conclusion 1 is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.
(4) If neither conclusion I nor II is true.
(5) If both conclusions I and II are true.



Statements:
= A>B2C=D,C<E=F>GZ2H,F<KSL

Conclusions:

I. CSL
ILD<E

(1) If only conclusion 1 is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.
(4) If neither conclusion I nor II is true.
(5) If both conclusions I and II are true.
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Statements:
= A=BSXSY,P2X=Z0>P

Conclusions:
I.P>B
II. P=B

(1) If only conclusion 1 is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.
(4) If neither conclusion I nor II is true.
(5) If both conclusions I and II are true.
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Statements:
= L=PSMSVSAQZ2R=N>P

Conclusions:
I.Q>L
ILNSA

(1) If only conclusion 1 is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.
(4) If neither conclusion I nor II is true.
(5) If both conclusions I and II are true.
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If using 3rd, 4th, Sth, 8th and 9th letters of the word
“GOVERNMENT?”, a meaningful word is formed.
What will be the 3rd last letter of the word? If no
meaningful word can be formed mark ‘X’ and if

more than one meaningful word is possible then
mark ‘Y’

(1) X
)Y
4V
) E
)N
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253 383 S35 738 467

arranged in ascending order within the number,
which of the following will be the lowest number in
the new arrangement?

TEIT oh Hia¥ STRNET ShH W ST RAT hid W
Wﬁﬁﬁﬁ#wﬁw AT

(1) 253
(2) 535
R)NAL]
(4) 467
(5) None of these
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253 383 S35 738 467

What will be the resultant if the first digit of the
second lowest number divides the second digit of the
highest number?

O TTY BT WEIT Rl USAT 37k Ty ISt G&Am
%aﬁmﬁ%ﬂﬁﬁm%a‘ﬂﬁmwm?

(1) 2
(2) 4
3)3
4) 1
(5) None of these
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253 883 S35 738 467

The positions of the second and the third digit of each of the
numbers are interchanged. What will be the resultant if the
third digit of lowest number thus formed is added to the
second digit of the second highest number thus formed?

Tk, EEHT o gEY SR e 3ien i frarfa sroa A ager <t
STt 1 Tfe 30 YR S+t T B WA S e 3feh gad
ﬁa@ﬁw%aﬁ{w&aﬁgﬁmma‘mﬁmmﬁ
5
1) 15
(3) 13
(5) None of these
) 11
4)9
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253 883 S35 738 467

If 2 is added to the first digit of every even number and 3 is
subtracted from the third digit of every odd number, then
in how many numbers will a digit appear twice?

gt Ucdieh TH H&AT & Ugel s 2 ?ﬁamwmﬁﬂm
TTT ok A1 37k T 3 UTIT ATY, a7 feha+1 T&Eate ¥ Uk 37
& TR SATT?

(1) Only one

(2) Two

(3) Three

(4) None

(5) None of these
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253 883 S35 738 467

What will be the resultant if the third digit of lowest
number and the first digit of second lowest number are
multiplied?

afe Tad SIS AT & A6 3ieh 3T O T BT UEAT
UE 3k ST I[UTT TSR SATT AT TRUTTH <Rm gim?

(D) 10
2) 14
3) 16
(4) 12
(5) None of these
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Statements:
All G are L.

No LisT.
Some T are H.

Conclusions:
I. Some H are G.
II. No His G.

(1) Only I follows.
(2) Only II follows.
(3) Either I or II follows.
(4) None follows.

(5) Both I and II follow.
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Statements:
Some P are K.

Some K are L.
All L are C.

Conclusions:
I. No L is K.
I1. Some C are K.

(1) Only I follows.
(2) Only II follows.
(3) Either I or II follows.
(4) None follows.

(5) Both I and II follow.



Statements:

Some pearls are gems.
All gems are diamonds.
No diamond is stone.

Conclusions:
I. Some stones are pearls.
I1. Some pearl being diamond is possibility.

(1) Only I follows.

(2) Only II follows.

(3) Either I or II follows.
(4) None follows.

(5) Both I and II follow.
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Statements:

Some apartments are flats.
Some flats are buildings.

All buildings are bungalows.

Conclusions:
I. All apartments being building is a possibility.
I1. All bungalows are not buildings.

(1) Only I follows.

(2) Only II follows.

(3) Either I or II follows.
(4) None follows.

(5) Both I and II follow.
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S starts running from point X and runs 10 meters
towards south. He then takes a right turn and runs
for 25 meters. He takes a left turn and stops at Point
U after running 10 meters. Point A is 10 meter to the
east of Point U. Point C is 20 meters to the north of
the Point A. Point P is 3 meters to the west of C.

S feig X | et & AT § 3R 10 HWieX SFam0r Y 31X
Stgdt 2| T g Sifeet o HeaT § 31 25 WX ek
SiedT 8l I AT 3T ggaT € i 10 HeX Sg F are
g J U &k AT 21 16ig A, foig U & 10 fiex gd 4 2
firg C, g A & 20 Tiier 33 7 21 arg P, i € 9 3 T
i & 37
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S starts running from point X and runs 10 meters
towards south. He then takes a right turn and runs
for 25 meters. He takes a left turn and stops at Point
U after running 10 meters. Point A is 10 meter to the
east of Point U. Point C is 20 meters to the north of
the Point A. Point P is 3 meters to the west of C.

If R who is S's childhood friend is standing at Point
Y which is 7 meters to the north of Point P then in
which direction will he have to run in order to reach
S who is standing at Point U?

(1) North-east

(2) West

(3) South-west

(4) South

(5) None of these



& s
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S starts running from point X and runs 10 meters
towards south. He then takes a right turn and runs
for 25 meters. He takes a left turn and stops at Point
U after running 10 meters. Point A is 10 meter to the
east of Point U. Point C is 20 meters to the north of
the Point A. Point P is 3 meters to the west of C.
How far and in which direction is Point P with
respect to Point X?

(1) 18m, west

(2) 20m, east

(3) 18m, east

(4) 25m, west

(5) None of these
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S starts running from point X and runs 10 meters
towards south. He then takes a right turn and runs
for 25 meters. He takes a left turn and stops at Point
U after running 10 meters. Point A is 10 meter to the
east of Point U. Point C is 20 meters to the north of
the Point A. Point P is 3 meters to the west of C.

If a person walks 3 m towards south from point

A and reaches point F, which of the following

points would fall in a straight line?

(M) AF,U

2)C P, A

BQUX,P

4D F A C

(5) None of these
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In a family of nine members S says that M is the

daughter of my sister R, who is the only daughter of
T. A is the child of T and I, who is the grandmother
of K. Q is the mother of L, who is the only sister of K.
A is unmarried.

Tt TEET ATl URGR A S ST shgAT ¢ foh M A s R
hT 9eT 7, AT T <hl Seheltel Sl 21 A, T 3R I Y @a
T, S K 2rEt 81 Q, L h |1 2, S K hl STl da
2l A srfdafaa 2



In a family of nine members S says that M is the
daughter of my sister R, who is the only daughter of
T. A is the child of T and I, who is the grandmother
of K. Q is the mother of L, who is the only sister of K.
A 1Is unmarried.

How is A related to K?

(1) Maternal Uncle

(2) Maternal Aunt

(3) Paternal Uncle

(4) Paternal Aunt

(5) Cannot be determined
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In a family of nine members S says that M is the
daughter of my sister R, who is the only daughter of
T. A is the child of T and I, who is the grandmother
of K. Q is the mother of L, who is the only sister of K.
A 1Is unmartried.

How is K related to T?

(1) Daughter-in-law

(2) Granddaughter

(3) Grandson

(4) Either option (2) or (3)

(5) None of these

4 @Reasoningbybasantsir
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In a family of nine members S says that M is the
daughter of my sister R, who is the only daughter of
T. A is the child of T and I, who is the grandmother
of K. Q is the mother of L, who is the only sister of K.
A 1Is unmarried.

If M is the spouse of R then how is Q related to M?
(1) Sister

(2) Brother-in-law

(3) Wife of Brother-in-law

(4) Cousin

(5) None of these
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Seven boxes G, F, E, D, C, B and A are arranged in the top
to bottom. Each box contains different colour Red, Green,
Pink, Violet, White, Black and Blue, but not necessarily in
the same order. A is kept immediately below to the box
which contains White colour. Only two boxes are kept
between the box which contains Violet colour and the box
which contains Blue colour. Only one box is between G and
the one which contains Pink colour. E does not contain
Pink. The box contains Red colour is immediately above C.
Black box is below G. Only four boxes are kept between D
and the box which contains Pink colour. Both the box
contain Violet and White colour are kept above C. Only
two boxes are kept between E and the box which contains
Black colour. The number of boxes between F and E are
same as between E and G.
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ot fgsa G, F, E, D, C, B 37K A 301 & =l &t TR saafedd
31 e e W SToTT-STeRT 1 o1Te, &, TTelTaly, ST, i,
HIAT 3T AT &, Tk ST g1 Toh THT v W il A 1 3H
fSdl o STk i< T AT & e ghg T 8| St I e
Tooat o et 1 et Tesdl o ol ohalet &1 feee T MU &1 G
R TS §T AT ST ok ST kool Ueh a1 g1 E § TeATalt
{1 TE 3| AT U1 ATAT ST C o ek FUE B TeAT e G
o T g1 D AR ITATST T TTCHA ST oh STl hael IR ST
T T F| ST 3R qoRe BT aTel a1 e C 3 0% 1@ T §
E 3T Tt O el fees o offer Shaet a1 fesa T MU & F @i
E é;a;l:rmzﬁWE 3R G o ST o Tl hl TEIT h
T 2
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A is kept immediately below to the box which contains White
colour. Only two boxes are kept between the box which contains
Violet colour and the box which contains Blue colour. Only one box
is between G and the one which contains Pink colour. E does not
contain Pink. The box contains Red colour is immediately above C.
Black box is below G. Only four boxes are kept between D and the
box which contains Pink colour. Both the box contain Violet and
White colour are kept above C. Only two boxes are kept between E
and the box which contains Black colour. The number of boxes
between F and E are same as between E and G.

Which of the following boxes is kept on the top?

(1) Black

2) A

3)F

(4) Pink

(5) Green
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A is kept immediately below to the box which contains White
colour. Only two boxes are kept between the box which contains
Violet colour and the box which contains Blue colour. Only one box
is between G and the one which contains Pink colour. E does not
contain Pink. The box contains Red colour is immediately above C.
Black box is below G. Only four boxes are kept between D and the
box which contains Pink colour. Both the box contain Violet and
White colour are kept above C. Only two boxes are kept between E
and the box which contains Black colour. The number of boxes
between F and E are same as between E and G.

Which of the following boxes is kept immediately above D?

(1) A

2)C

(4) Blue

(3) Violet

(5) Cannot be determined



% @Reasoningbybasantsir

A is kept immediately below to the box which contains White
colour. Only two boxes are kept between the box which contains
Violet colour and the box which contains Blue colour. Only one box
is between G and the one which contains Pink colour. E does not
contain Pink. The box contains Red colour is immediately above C.
Black box is below G. Only four boxes are kept between D and the
box which contains Pink colour. Both the box contain Violet and
White colour are kept above C. Only two boxes are kept between E
and the box which contains Black colour. The number of boxes
between F and E are same as between E and G.

How many boxes are kept between box E and Pink coloured box?
(1) None

(2) One

3) Two

(4) Three

(5) Four



% @Reasoningbybasantsir

A is kept immediately below to the box which contains White
colour. Only two boxes are kept between the box which contains
Violet colour and the box which contains Blue colour. Only one box
is between G and the one which contains Pink colour. E does not
contain Pink. The box contains Red colour is immediately above C.
Black box is below G. Only four boxes are kept between D and the
box which contains Pink colour. Both the box contain Violet and
White colour are kept above C. Only two boxes are kept between E
and the box which contains Black colour. The number of boxes
between F and E are same as between E and G.

What is the position of box A from the bottom?

(1) First

(2) Second

(3) Third

(4) Fourth

(5) Fifth



% @Reasoningbybasantsir

A is kept immediately below to the box which contains White
colour. Only two boxes are kept between the box which contains
Violet colour and the box which contains Blue colour. Only one box
is between G and the one which contains Pink colour. E does not
contain Pink. The box contains Red colour is immediately above C.
Black box is below G. Only four boxes are kept between D and the
box which contains Pink colour. Both the box contain Violet and
White colour are kept above C. Only two boxes are kept between E
and the box which contains Black colour. The number of boxes
between F and E are same as between E and G.

What is the colour of Box E?

(1) Black

(2) Green

(3) Pink

(4) Violet

(5) White



Ten persons from A to J are attending a seminar on five
different months among January, February, March, April
and May but not necessarily in the same order. The seminar
held on two different dates like 19th and 20th of each
month. No two persons attend the seminar on the same date
of a month. Only two persons attend the seminar before E.
Three persons attend a seminar between B and H. F
attends a seminar in March. B attends a seminar on 20th of
the month which has minimum number of days. A and D
attend on an odd date. A attends on the month which has 31
days. Two persons attend a seminar between D and J. 1
attend the seminar immediately before J and in the month
of May. Two persons attend a seminar between I and G.

\\
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Ten persons from A to J are attending a seminar on five different
months among January, February, March, April and May but not
necessarily in the same order. The seminar held on two different
dates like 19th and 20th of each month. No two persons attend the
seminar on the same date of a month. Only two persons attend the
seminar before E. Three persons attend a seminar between B and H.
F attends a seminar in March. B attends a seminar on 20th of the
month which has minimum number of days. A and D attend on an
odd date. A attends on the month which has 31 days. Two persons
attend a seminar between D and J. I attend the seminar immediately
before J and in the month of May. Two persons attend a seminar
between I and G.

How many persons attend the seminar before G?

(1) Two

(2) Three

(3) Four

(4) None

(5) Five
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Ten persons from A to J are attending a seminar on five different
months among January, February, March, April and May but not
necessarily in the same order. The seminar held on two different
dates like 19th and 20th of each month. No two persons attend the
seminar on the same date of a month. Only two persons attend the
seminar before E. Three persons attend a seminar between B and H.
F attends a seminar in March. B attends a seminar on 20th of the
month which has minimum number of days. A and D attend on an
odd date. A attends on the month which has 31 days. Two persons
attend a seminar between D and J. I attend the seminar immediately
before J and in the month of May. Two persons attend a seminar
between I and G.

Who among the following attends the seminar on 19th of May?

(1) A

4) G

2)1

3)F

(5) None of these
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Ten persons from A to J are attending a seminar on five different
months among January, February, March, April and May but not
necessarily in the same order. The seminar held on two different
dates like 19th and 20th of each month. No two persons attend the
seminar on the same date of a month. Only two persons attend the
seminar before E. Three persons attend a seminar between B and H.
F attends a seminar in March. B attends a seminar on 20th of the
month which has minimum number of days. A and D attend on an
odd date. A attends on the month which has 31 days. Two persons
attend a seminar between D and J. I attend the seminar immediately
before J and in the month of May. Two persons attend a seminar
between I and G.

Which among the following statements is definitely true?

(1) H and the person who attends a seminar immediately before J
attend the seminar in the same month.

(2) Two persons attend a seminar between A and J.

(3) D and F attend a seminar on an odd day.

(4) B and C attend a seminar in the same month.

(5) None of these
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Ten persons from A to J are attending a seminar on five different
months among January, February, March, April and May but not
necessarily in the same order. The seminar held on two different
dates like 19th and 20th of each month. No two persons attend the
seminar on the same date of a month. Only two persons attend the
seminar before E. Three persons attend a seminar between B and H.
F attends a seminar in March. B attends a seminar on 20th of the
month which has minimum number of days. A and D attend on an
odd date. A attends on the month which has 31 days. Two persons
attend a seminar between D and J. I attend the seminar immediately
before J and in the month of May. Two persons attend a seminar
between I and G.

Four of the following five are alike in a certain way and thus form a
group. Which of the following does not belong to the group?

(1) C

4)H

2)B

B F

(5) None of these



% @Reasoningbybasantsir

Ten persons from A to J are attending a seminar on five different
months among January, February, March, April and May but not
necessarily in the same order. The seminar held on two different
dates like 19th and 20th of each month. No two persons attend the
seminar on the same date of a month. Only two persons attend the
seminar before E. Three persons attend a seminar between B and H.
F attends a seminar in March. B attends a seminar on 20th of the
month which has minimum number of days. A and D attend on an
odd date. A attends on the month which has 31 days. Two persons
attend a seminar between D and J. I attend the seminar immediately
before J and in the month of May. Two persons attend a seminar
between I and G.

Which of the following persons attend a seminar in a month which
has 30 days?

1M)CcJd

2)LE

4)D,H

B)F, A

(5) None of these
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The certain number of persons sitting in a row and all of
them are facing in the north direction. Only ten persons sit
to the left of E. F sits eight to the left of E. The person A sits
fourth to the right of B. Four persons are sitting between B
and F. C sits to the immediate left of D. D sits third from the
extreme right end of the row. The number of persons sit
between F and A is same as E and D.

U Ut # FAfaa dear o safe 98 8 TR 37 gt &1 7@ 3™
faoT <At 2R 81 E o STt 3T ohaiet o6 fvh & 2| UTeh <k
Y 70 B H @1 F 3R A & =1 989 AT SRl <hl
AT E 3R D & qu )
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The certain number of persons sitting in a row and all of
them are facing in the north direction. Only ten persons sit
to the left of E. F sits eight to the left of E. The person A sits
fourth to the right of B. Four persons are sitting between B
and F. C sits to the immediate left of D. D sits third from the
extreme right end of the row. The number of persons sit
between F and A is same as E and D.

Four of the following five are alike in a certain way and
thus form a group. Which of the following does not belong
to the group?

(1) F-20

4) C-4

(2) B-15

3) A-10

(5) None of these
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The certain number of persons sitting in a row and all of
them are facing in the north direction. Only ten persons sit
to the left of E. F sits eight to the left of E. The person A sits
fourth to the right of B. Four persons are sitting between B
and F. C sits to the immediate left of D. D sits third from the
extreme right end of the row. The number of persons sit
between F and A is same as E and D.

What is the position of C with respect to E?

(1) Immediate right

(2) Third to the left

(3) 8th to the right

(4) Immediate left

(5) None of these
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The certain number of persons sitting in a row and all of
them are facing in the north direction. Only ten persons sit
to the left of E. F sits eight to the left of E. The person A sits
fourth to the right of B. Four persons are sitting between B
and F. C sits to the immediate left of D. D sits third from the
extreme right end of the row. The number of persons sit
between F and A is same as E and D.

How many persons are there in the row?

(1) 20

2) 19

(4) 22

R)PAR

(5) None of these
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The certain number of persons sitting in a row and all of
them are facing in the north direction. Only ten persons sit
to the left of E. F sits eight to the left of E. The person A sits
fourth to the right of B. Four persons are sitting between B
and F. C sits to the immediate left of D. D sits third from the
extreme right end of the row. The number of persons sit
between F and A is same as E and D.

How many seats are there between A and E?

(Mo

2)1

45

R)R

(5) None of these



Qé_ Six persons-A, E, V, I, O and U are sitting around a
triangular table. Three of them sit at the corner and three

of them sit at the side of the table. Three of them are facing
center and three facing outward of the table. U sits at
corner seat and faces towards the center. Only one person
sits between I and U. E and I are immediate neighbor but
none of them immediate neighbor of U. A sits second to the
left of I. U sits at the immediate right corner of A. V faces
inside. O, who is an immediate neighbor of I, sits second to

the right ofE
—a%s A,E, V, 1, O 3R U Ueh HehIvii= A<t o o 3T 98

aﬁ?aﬁﬁmé%%aﬁimﬁﬁaﬁ?ﬁa%%ﬁmé%
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Six persons-A, E, V, I, O and U are sitting around a
triangular table. Three of them sit at the corner and three
of them sit at the side of the table. Three of them are facing
center and three facing outward of the table. U sits at
corner seat and faces towards the center. Only one person
sits between I and U. E and I are immediate neighbor but
none of them immediate neighbor of U. A sits second to the
left of I. U sits at the immediate right corner of A. V faces
inside. O, who is an immediate neighbor of I, sits second to
the right of E.

Who among the following is second to the left of the V?
(Hu

2)1

Q) E

4 A

(5) None of these
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Six persons-A, E, V, I, O and U are sitting around a
triangular table. Three of them sit at the corner and three
of them sit at the side of the table. Three of them are facing
center and three facing outward of the table. U sits at
corner seat and faces towards the center. Only one person
sits between I and U. E and I are immediate neighbor but
none of them immediate neighbor of U. A sits second to the
left of I. U sits at the immediate right corner of A. V faces
inside. O, who is an immediate neighbor of 1, sits second to
the right of E.

Who among the following are facing towards the centre?
(1) V,Aand U

2)LLUand V

3)V,0and E

(4) Can’t be determined

(5) None of these
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Six persons-A, E, V, I, O and U are sitting around a
triangular table. Three of them sit at the corner and three
of them sit at the side of the table. Three of them are facing
center and three facing outward of the table. U sits at
corner seat and faces towards the center. Only one person
sits between I and U. E and I are immediate neighbor but
none of them immediate neighbor of U. A sits second to the
left of I. U sits at the immediate right corner of A. V faces
inside. O, who is an immediate neighbor of I, sits second to
the right of E.

Who among the following sits third to the right of 1?

1) O

2)V

) A

(4) P

(5) None of these
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